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Candidates must write the Code on the
title page of the answer-book.

o YA T H T Toh 38 Y- § qfgd I8 12 & I 2 I8 WA h @ |

o TH-UA H TEH T H AR T T HIE TR Hl BH IW-YEIH 6 JE-I8 W
forg |

o FYA IE WA W yATA H 227 F |

o HUAT U 1 I fIGHT I[& e W Uget, T 1 ShATHh Havd o |

o T YHUA HI UG o fo1C 15 fiFe o1 Tm fon mn @ | WA W foaw gatg
T 10.15 &< fopam M@ | 10.15 S @ 10.30 S dh D hael YIH-UT I gl
3TN 39 A9 & GRA o IT-YfEdh! W g I &1 fora |

e Please check that this question paper contains 12 printed pages and
2 pages of maps.

e Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 22 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.

e (Jgi=r)
GEOGRAPHY (Theory)
REgiRa a7 : 3 o2 ST 37 : 70

Time allowed : 3 hours Maximum Marks : 70
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(i)
(iii)
(iv)
(v)

(vi)

(vii)

(viii)

3G Jo7-97 4 FA22 F9T & |

Tyt g97 AT & |

o7 Q&1 1 8 7 37fa TG-ITT F7 & | TP Jo7 1 37 BT 8 | JAH 97 HT
I 40 ¥Ieg] & 3718 787 &7 FET |

Y97 G 8 T 13 TTY-3IF0T J97 8 | I4% J97 8 3 H & | FIF o HT
I 80 - 100 sz & 37 757 &1 T30 |

97 &7 14 T 20 -39 397 & | I9F J97 5 37 BT & | AP T BT
I 150 I3 @ 3718 77 &1 F05T |

97 &7 21 HITciw T H1 TEEET YT 37 T forgd @ gafad 8 | 9T
q&IT 22 YIMicrs e # fEdfa F1 3uges gl @ §d @ gada § | 9%
Jo75 37 F & /

37! 13T T fava aoT YR F IG@r-qrfA B FR-JleddHT @ GorT T
# /

{GT-TrfE] & @M & 77 @t 77 2¥aeied & 3717 &1 3FHlT & il
g/

General Instructions :

(1)
(i)
(iii)
(iv)
(v)
(vi)
(vit)

(viii)

There are 22 questions in all.
All questions are compulsory.

Question numbers 1 to 7 are very short-answer questions carrying 1 mark
each. Answer to each of these questions should not exceed 40 words.

Question numbers 8 to 13 are short-answer questions carrying 3 marks
each. Answer to each of these questions should not exceed 80 — 100 words.

Question numbers 14 to 20 are long-answer questions carrying 5 marks
each. Answer to each of these questions should not exceed 150 words.

Question numbers 21 and 22 are related to identification or locating and
labelling of geographical features on maps, carrying 5 marks each.

Outline maps of the World and India provided to you must be attached
within your answer-book.

Use of templates or stencils for drawing outline maps is allowed.
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SECTION A
1. ‘P = g’ qen Sor 9 =9 g § o T HIfV | 1
AAAT
Tk offt BV qem ‘o i HY H 3T T FHIfT | 1
Differentiate between ‘Culturable wasteland’ and ‘Barren and
Wasteland’.
OR
Differentiate between ‘Dryland farming’ and ‘Wetland farming’.
2. sf=y niht T8t wATe 87 1 39 fordlt te waieefie e < v i | 1

Examine any one environmental problem that emerged in the Indira
Gandhi Canal Command Area.

8. HIRH T@arg wdchi Fl fohd TR ARG i 7 2 1

How does ‘climate’ attract tourists in the world ?

4. 39 TWEIgM &1 AW fARau, &l 9% Tca IR UShd ATedl hl & Hed

Afres B | 1

Name the continent which has the highest road density and the highest
number of registered vehicles.

5.  STHIRT § ‘ShM-SiteR dfen gl § T SHEAT 8 o T SR i fIversor
I, | 1
3t

TYATE 3 I T 3T T HIfU | 1

Analyse the main reason for dense population in ‘Katanga-Zambia
Copper Belt’ in Africa.
OR

Differentiate between immigration and emigration.

6. NG % gl &1 Wh" T % am fafaw | Lele
HAAAT
A o fohegl Q1 HeehTel TRI < 9 fafe | é+é=1
Name any two ancient towns of India.
OR

Name any two medieval towns of India.



(=

37 yraee 1 AW feiflay, 58 yra d@ See foepie’ 6t ety & €9 ° S
ST 2 |

Name the phase which is referred to as the period of ‘population
explosion’ in India.

GUE @
SECTION B
HE It & Toh A9gd TH o &9 H Gad G9uiEar shl GehedT Sl oo
HINT |

YT

AHa fohE & 999 Ae@qUl Hl H 8 T GHAT hl HehoddT 1 HoToh
HIT |
Evaluate the concept of ‘sustainability’ as a strong pillar of human
development.

OR
Evaluate the concept of ‘equity’ as one of the most important pillars of
human development.

f feu mu s w1 gEgHigds e hife it 3 fie fow o vt %

I TG : 1+1+1=3
1200 -
1032 8! 1069 1072 1062 1051
1000 991 W
TTHToT

afd 1000 TeST 1 g # Aigerd

Maed  #el Jeid A9 fhacis =3icis
(9.1) m%ﬁa%mwmw SRl T &= § waius ITERd
feRTIaT 9T ST 2 |
(9.2)  fora foeprasfier <o & gmfior &1 # Haffaess igRa fermgama arn ST
27
(9.3)  fore fomfea <o o wmfioT &1 o atfes it formgama 9rm S g 2
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Study the diagram given below carefully and answer the questions that
follow :

1200 1

03 1083 1072 1062 1051

& 1000+ Il Urban
g Rural
o 800
S
2 .
., 6001
)
o
2 400
=
g 200
=

) Zimbabwe Canada Brazil Nepal Finland New
Zealand
9.1) Name the developed country which has the most favourable

sex-ratio in urban areas.

(9.2) Which developing country has the most favourable sex-ratio in
rural areas ?
(9.3) Which developed country has the most unfavourable sex-ratio in

rural areas ?
e :  HricIiad ge FacT givaTiaa ghgniadl & 079, 397 G 9 @ T WE -

Note: The following question is for the Visually Impaired Candidates only,
in lieu of Q. No. 9 :

TER & $S < § formuma Afgansti o gfigd #1 8 2 ¥ il | 1+42=3

Why is the sex-ratio unfavourable to women in some countries of the
world ? Explain.

10. Ta-Fveeang 61 Geheu fohem Teqa 1 ? Fa-fvearg 6t geheu i fohal &l
ferrarati 1 9l iR | 1+2=3
Who introduced the concept of Neo-determinism ? Describe any two
features of this concept of Neo-determinism.

11. 9Xd o T Teed % 9gad &Y 3l AR HIT | 3

Evaluate the changing patterns of the composition of India’s exports.

12. fova AOR GeA (S5, 21.371.) shi smaredn iR fatg i fopam mam 2 2 fopegi

T BN ! TS HifT | 1+2=3
rEn
HT ot (e T f9R) % YR W affehd fiF SRR o TG qoHl ohl

ST HIT | 1x3=3
2 5 P.T.O.




Why has World Trade Organisation (WTO) been criticised and opposed ?

Explain any three reasons.

OR

Explain three types of seaports classified on the basis of cargo handled by
them.

13. fou U wmfes 1 gEgrigEs STERA HhifVT 3R 3T = U T FH T o W
fofau - 1+1+1=3

(13.1) ¥HERE 9 fe@m T A" @ s S99 hl ugEE hIfGe 3 IHR
T fafeu |

(13.2) 39 el Ud 3891 &9 < foqu S < |rdi o1 3g@ Hifve |

(13.3) 9% I8l W& S89Td €99 fordl Teh 3feiifiien faehie hi STTUR GIR Shid
22
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Study the given map carefully and answer the questions that
follow :

Iron & Steel Plant

M Manganese
W Steel Plant

. X Gorumahisani
Kutupit
Bonaigarh B4

(13.1) Identify and name the iron and steel plant shown in the map.
(13.2) Mention the sources of manganese for this iron & steel plant.

(13.3) How does this iron and steel plant form a base for industrial
development ?

Fig :  [Arlkiiad o7 Feac1 gieaTaa gagniaal @ 679, 397 G877 13 % € W8

Note: The following question is for the Visually Impaired Candidates only,
in lieu of Q. No. 13 :

TET Td 3ETd IS ki WHl I R hal Sl @ ? 3@ 9ied T
i | 1x3=3

Why is the iron and steel industry known as ‘heavy industry’ ? Explain
with examples.

641172 7 PT.O.
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SECTION C

14. TER H yafd ‘faeqa s o iy i fohegl die famiwareti i smen
HIfT | Ix5=5

Explain any five features of ‘Extensive commercial grain cultivation’

practised in the world.

15. WRd H S YGYVT o RV T GwrEl 1 fergerwor i | 3+2=5

Analyse the causes and consequences of water pollution in India.

16. YA 1A I & Hawd Ud IUeU hl sIRedl v | 3+2=5
AUAT

“Iug TR S ikl B wETaul ftreRt T &1 8 |7 SWIRh Serewil afed 3
HYA i gfee HIfvw | 2+3=5

Explain the importance and achievements of Indian rail network.

OR

“Satellite communication is playing an important role in several ways.”
Support the statement with suitable examples.

17. @i GETeErT o S T R S SR 2 W & e SereE % S %
el e ] 1 s HIRTT | 2+3=5
AUAT

“STREIT Sl o Hid 3Tfh [Ehre qTfElash-319hd 3R Tl ol 3ucrey
A & |7 I ISTEWN Afgd 39 e i gfee Hfvw | 3+2=5

Why should mineral resources be conserved ? Explain any three ways to
conserve mineral resources in India.

OR

“The non-conventional energy sources provide more sustained,
eco-friendly form of cheaper energy.” Support the statement with suitable
examples.

64/112] 8



O =]
O}

18. ‘G¥w U fawm wriwpn g fgiia el 9fe TR wrifat &1 aoH
SHIfTT | Ix5=5

Describe any five urban strategies as outlined by the ‘United Nations

Development Programme’.

19. “GER 1§ 92 Y % I hl fEfdE # sE e Mg wd 2 17 3|

FHYA i gfee KT | 5
arera

“dor W # fafmio s 8 3= Nt qdiaan d@ R 17 38 s i g

ST | 5

“Locations of large scale industries in the world are determined by
several factors.” Support the statement.

OR

“High technology is the latest generation of manufacturing industries
across the globe.” Support the statement.

20. YRA § AFS I o o ko H oMU Iudfes™i i iRt o
ferecryor i | 5

Analyse the role of economic attainments in the assessment of Human
Development Index in India.

21. AR & fou wu goHifos W@rAEfE (98 13 W), # ufe s deon w
A, B, C,D 3R E ¥ fe@mm mn g | 3Th! Ygu Fefaiad SRl i 7ee 9

ST R 3Tk TE T 3oh T Tl TE W@ren W fafeu Ix5=5
A AR 9 qTH

B. YqQ §Hg! 9TA

C. Tiated qusy =1 & yq@ &=

D. §m &

E. 3heEifies ew



On the given political outline map of the World (on page 13), five
geographical features have been marked as A, B, C, D and E. Identify
them with the help of the following information and write their correct

names on the lines drawn near them :

A. An international airport

A major seaport

A major area of subsistence gathering

A mega city

=@ 9 aQ W

An industrial region

iz :  [HArkifad 3e7 #ac glEaraa ghgniaal & g, 397 e 21 & €9
WE:

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 21 :

(21.1) IO  Torelt weh T Tl oA 1 99 fafew |

(21.2) TURRN % foRelt T STAUSE a1 qTH 1 AW fAfE |

(21.3) cferr smfeEnt o foreft weh w5t w1 9w fafRaw |

(21.4) IR THIERT o Teh R Tew 1 99 fARau |

(21.5) 3ThIhT o Y@ fafe d@ugw &= 1 9w fafau | Ix5=5

(21.1) Name any one major seaport in Europe.
(21.2) Name any one international airport in Asia.
(21.3) Name any one mega city in South America.
(21.4) Name an industrial region in North America.

(21.5) Name the major area of subsistence gathering in Africa.

64/112] 10



22. WA % U T TSI @1-AFRS (I8 15 W), § Hefafed 4 9 faeg? aia
Iimiferss @en ot fe@rge 3k 37 am fafe . Ix5=5

(22.1) 3fifeen ° Tk g 3R @
(22.2) 98 ST orgd smyenfERt < gen 999 At 3
(22.3) <A 1 AUV IcTTGh TS

(22.4) 3TEH 1 Th A Iy TH

(22.5) HEY YT hI Ueh HIFAIL SFATATST UTeh

(22.6) TSRIA %I Th oA MG HREHT
(22.7) 98 TSY f9EH TR &1 TR 999 HH 3
(22.8) cfaof 3o AUSH I AT

Locate and label any five of the following geographical features on the

given political outline map of India (on page 15) :

(22.1) An Iron Ore mine in Odisha

(22.2) The State with the largest number of immigrants
(22.3) The leading producer State of rice

(22.4) An international airport in Assam

(22.5) Software Technology Park in Madhya Pradesh
(22.6) An Oil refinery in Gujarat

(22.7) The State with lowest level of urbanisation

(22.8) Headquarter of Southern Railway zone



O =]
O}

Fig:  FECTRET 97 #acl GIRETEd ghgmiadl & o8, I97 ey 22 & T T
g 1 fabegh wier 31 & 3w e /|

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 22. Attempt any five questions.

(22.1) 379 % AW 91 I 1 A TARGT |

(22.2) T Y o TIFAI SIS UTeh b1 A1 fAfaw |

(22.3) BHIENE % Teh g 3 @M hl I AR |

(22.4) 3T TF 1 9 fafae, foed smvanfet 6 g o8 a1fas 2 |

(22.5) =TEd < IO IcATGh s 1 A fARET |

(22.6) TORId % feRelt T ot MY HREM H1 AW fafgu |

(22.7) cfeoft 1@ Hued % geaTe™ i 9 fafau |

(22.8) TR & FEE HH TR el TsT 1 W fIRT | 1x5=5

(22.1) Name an international airport in Assam.

(22.2) Name a software technology park in Madhya Pradesh.
(22.3) Name an iron ore mine in Chhattisgarh.

(22.4) Name the State with the largest number of immigrants.
(22.5) Name the leading producer State of rice.

(22.6) Name any one oil refinery in Gujarat.

(22.7) Name the headquarter of Southern Railway zone.

(22.8) Name the State with lowest level of urbanisation.

64/112] 12
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T 9. 21 & forw For question no. 21

WORLD-POLITICAL

64/1/2 13 P.T.O.







Ol
I3 9. 22 & forw For question no. 22
TR T {@I-Ue (T ifeen)

Outline Map of India (Political)
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